N = 0 &8 AH Y H N AN
201798 & 20 & LBHSH A A
SH: Mo1S
HE: MOIS A
SR FOXXAE LHAR2Y 2 HOALE X (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
MAIS 264,175 240,295 23,880
MATS AP EHI 170,140 146,560 23,580
FOXXAE HWAS2E L HoAAIL X 123,650 100,070 23,580
FOUTXAMH 2 52,050 61,050 A9,000
201 et A | 13,050 58,050 A 45,000
01 AFR2t2l Yl 13,050 58,050 A 45,000
OdHE2g Litx==H| 4,050,000& 4,050
ORI+ 9,000,000& 9,000
301 dEtE A= 39,000 3,000 36,000
09 HAIAHI EA= 3,000 3,000 0
OFOUNXSAAS 928 L SLTXCSH Hat
100,000& *25H 13| 2,500
O2te s 2l 500,000& 500
1M1 IIEtE &2 36,000 0 36,000
OZAIE=E 36,000, 000& 36,000
FOIHEHOIAIE XA 55,600 39,020 16,580
201 Bt A | 21,900 20,820 1,080
01 At 22l bl 6,500 0 6,500
OFARUEBHIAIAE 98  250,000&*12& 3,000
OMdz=ZX HAH 1,000,000& 1,000
Od=£J & Hld €xs S 2,500,000& 2,500
02 s329H| 15,400 20,820 N5,420
OL2IHoIeH =X 2AS  165,000& x12& 1,980
OXt& = X bl 5,500,000& 5,500
OALESIY L AYAHEE 42
1,200,000& 1,200
O&IIHMES JH L MIEBEE =2
300,000& 300
OF AR XY 5,000,000& 5,000
OFSELLE=4NHE 700,000& 700
oYy - ¢Hdl 60,000& *12& 720
203 € R =&Y| 1,700 1,700 0
03 Al =X H R =X Y| 1,700 1,700 0
OMAIS SHEYRAIMFA 1,700,000& 1,700
401 Al B2 20 HI 32,000 16,500 15,500
01 A& HI 32,000 16,500 15,500
O&AN 224X £ RAE2=H 6,000,000 6,000
OFA 2l A 8,000,000& 8,000
OFEA 32 ZHE HIE HU|Z2AH237m)
18,000, 000& 18,000




RS RERES
D MAES Arg I
DFUNXIMAEH WA2E E HAAE X

= — = 4 &
CHH . ER() - MTAY - B of 4 o4 e 2
2017 A2t e etotSHM =3l 16,000 0 16,000
201 Yete | 16,000 0 16,000
03 A2 16,000 0 16,000
OAlglgter etots MU 16,000,000 16,000
g 252y 46,490 46,490 0
cletdes24XH 46,490 46,490 0
301 Yere A 46,490 46,490 0
068 -0 -83Es243 46,490 46,490 0
osg¥=¢g 200,000& 13 »12& 31,200
Os&do=s 200,000& »13& »23| 5,200
OS¥IAFH Y 20,000 x13& x22| « 128 6,240
ot &=l 50,000% 778 *13] 3,850
HHSAAY (MO1S) 94,035 93,735 300
A AH(MAH1S) 31,755 31,755 0
oAt (de1s) 31,755 31,755 0
101 1248l 31,755 31,755 0
03 RIAHAZ 22 31,755 31,755 0
OFA2CIEELRY 31,755
=32 1,167, 7503 » 18« 128 14,013
-d0= 1,167, 7503 x1H x4 & 4,671
A2l 9,940 x1H «22 A1 2t+ 128 2,625
-5e2f=E 79,6003 x1H 22+ 123 1,911
= 53,0703 13 »52== 2,760
L PNEI= RSy 53,070 +10 531
-Jtet= 1,167,750 » 12 *12% 1,682
- NG A 80,000 x 1+ 12& 960
-NSE X 60,0002 x 1+ 122 720
-HEF0t 1,167,750 » 128 »23| x60% 1,402
IE+E 20,0003 »2H x12E 480
|22l (4e1s) 62,280 61,980 300
2t (des) 62,280 61,980 300
201 2Bt2 | 35,400 31,900 3,500
01 AtR 22|l 11,000 9,500 1,500
ORMESE AR 22t 11,000, 000& 11,000
02 329l 24,400 22,400 2,000
o&lIes 20,000,000 20,000
Odot==a=s 1,700,000& 1,700
oRER= 2,700,000& 2,700
202 o4l 16,960 16,960 0
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